

145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32765

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

Accounts Payable Yonkers Public Schools One Larkin Center, 3rd Floor Yonkers NY 10701 United States Ship To:

ELDA PEREZ-MEJIA EUGENIO MARIA DE HOSTOS SCHOOL 75 MORRIS ST YONKERS NY 10705

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y31527	Benchmark Advance Grade K My Shared Readings Consumables 5 Volumes 25- Copy Student Set - National Edition 1- Year	Current	\$250.00	2	\$500.00
Y29963	Benchmark Advance Grade K My Shared Readings Consumables 5 Volumes 3- Copy Set - National Edition 1-Year	Current	\$30.00	2	\$60.00
Y38277	Benchmark Advance Grade 1 My Reading and Writing Consumable 10 Units 25- Copy Set - National 2nd Edition 1-Year	Current	\$250.00	2	\$500.00
Y37408	Benchmark Advance Grade 1 My Reading and Writing Consumable 10 Units 3-Copy Set - National 2nd Edition 1-Year	Current	\$30.00	2	\$60.00
Y31529	Benchmark Advance Grade 2 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y29969	Benchmark Advance Grade 2 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	1	\$51.00
Y31530	Benchmark Advance Grade 3 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y29970	Benchmark Advance Grade 3 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	1	\$51.00
Y31531	Benchmark Advance Grade 4 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y29971	Benchmark Advance Grade 4 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	1	\$51.00

Page: 1 of 3	Customer #: B00782557	Quote: 32765	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32765

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y31532	Benchmark Advance Grade 5 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y29972	Benchmark Advance Grade 5 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	1	\$51.00
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	1-Year	\$200.00	2	\$400.00
X39299R	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39300R	Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39301R	Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2,	\$400.00
X39302R	Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00

Subtotal	Discount Total	Sales Tax	Shipping Cost	Total
\$7,804.00	(\$7,804.00)	\$0.00	\$0.00	\$0.00 USD

Memo

GRATIS 1-YEAR RENEWAL QUOTE 2022-2023 ALL ITEMS GRATIS / VALID ONLY IF ESTIMATE 32807 IS PURCHASED

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Page: 2 of 3	Customer #: B00782557	Quote: 32765	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32765

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE T ALL DIGITAL SUBSO		HASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
Name of School(s) T Attach separate docur	hat Will Use the Subscription(s) nent if necessary	
Onboarding Tech Co	ntact Name	
Onboarding Tech Co	ntact E-Mail	
• REQUIRED		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite Email: neworders@benchmarkeduc Phone: 877-236-2465 Fax: 877-732	ation.com

Terms of Service

Page: 3 of 3	Customer #: B00782557	Quote: 32765	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32766

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer: Si

ACCOUNTS PAYABLE DEPT One Larkin Center, 3rd Floor Yonkers NY 10701 United States Ship To:

WILLIAM BOYCE THOMPSON SCHOOL

1061 N BROADWAY YONKERS NY 10701

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y31527	Benchmark Advance Grade K My Shared Readings Consumables 5 Volumes 25- Copy Student Set - National Edition 1- Year	Current	\$250.00	2	\$500.00
Y38277	Benchmark Advance Grade 1 My Reading and Writing Consumable 10 Units 25- Copy Set - National 2nd Edition 1-Year	Current	\$250.00	1	\$250.00
Y37408	Benchmark Advance Grade 1 My Reading and Writing Consumable 10 Units 3-Copy Set - National 2nd Edition 1-Year	Current	\$30.00	4	\$120.00
Y31529	Benchmark Advance Grade 2 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y31530	Benchmark Advance Grade 3 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y31531	Benchmark Advance Grade 4 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y29971	Benchmark Advance Grade 4 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	1	\$51.00
Y31532	Benchmark Advance Grade 5 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y31533	Benchmark Advance Grade 6 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y29973	Benchmark Advance Grade 6 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	1	\$51.00

Page: 1 of 3	Customer #: B04367812	Quote: 32766	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32766

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Product Code	Title	Price Level	Unit Price	Qty	Total Price
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	1-Year	\$200.00	1	\$200.00
X39299R	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39300R	Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39301R	Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39302R	Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39303R	Benchmark Advance Grade 6 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00

Subtotal	Discount Total	Sales Tax	Shipping Cost	Total
\$8,672.00	(\$8,672.00)	\$0.00	\$0.00	\$0.00 USD

Memo

GRATIS 1-YEAR RENEWAL QUOTE 2022-2023 ALL ITEMS GRATIS / VALID ONLY IF ESTIMATE 32806 IS PURCHASED

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Page: 2 of 3	Customer #: B04367812	Quote: 32766	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32766

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE THE		HASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
Name of School(s) The Attach separate documents	nat Will Use the Subscription(s) ent if necessary	
Onboarding Tech Cor	tact Name	
Onboarding Tech Cor	tact E-Mail	
• REQUIRED		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suit Email: neworders@benchmarkeduc Phone: 877-236-2465I Fax: 877-732	eation.com

Terms of Service

Page: 3 of 3	Customer #: B04367812	Quote: 32766	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801 Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

QUOTE: 32767

Customer:

ACCOUNTS PAYABLE DEPT ONE LARKIN CENTER, 3RD FLR

Yonkers NY 10701 United States Ship To:

DICHIARO ELEM 373 BRONXVILLE RD YONKERS NY 10708

roduct Code	Title	Price Level	Unit Price	Qty	Total Price
Y31527	Benchmark Advance Grade K My Shared Readings Consumables 5 Volumes 25- Copy Student Set - National Edition 1- Year	Current	\$250.00	2	\$500.00
Y38277	Benchmark Advance Grade 1 My Reading and Writing Consumable 10 Units 25- Copy Set - National 2nd Edition 1-Year	Current	\$250.00	2	\$500.00
Y31529	Benchmark Advance Grade 2 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y31530	Benchmark Advance Grade 3 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y29970	Benchmark Advance Grade 3 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	2	\$102.00
Y31531	Benchmark Advance Grade 4 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y29971	Benchmark Advance Grade 4 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	1	\$51.00
Y31532	Benchmark Advance Grade 5 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y29972	Benchmark Advance Grade 5 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	1	\$51.00
Y31533	Benchmark Advance Grade 6 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00

Page: 1 of 3	Customer #: B00782442 Quote: 32767		Customer #: B00782442 Quote: 32767		Customer #: B00782442 Quote: 32767		
Quote Date: 4/25/2022	E02015 Eric Jurman						



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32767

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Product Code	Title	Price Level	Unit Price	Qty	Total Price
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	1-Year	\$200.00	2	\$400.00
X39299R	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39300R	Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39301R	Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39302R	Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39303R	Benchmark Advance Grade 6 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00

Subtotal	Discount Total	Sales Tax	Shipping Cost	Total
\$9,104.00	(\$9,104.00)	\$0.00	\$0.00	\$0.00 USD

Memo

GRATIS 1-YEAR RENEWAL QUOTE 2022-2023 ALL ITEMS GRATIS / VALID ONLY IF ESTIMATE 32800 IS PURCHASED

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Page: 2 of 3	Customer #: B00782442	Quote: 32767	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32767

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE T ALL DIGITAL SUBSC		HASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
Name of School(s) T Attach separate documents	hat Will Use the Subscription(s) nent if necessary	
Onboarding Tech Co.	ntact Name	
Onboarding Tech Co.	ntact E-Mail	
• REQUIRED		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite Email: neworders@benchmarkeduc Phone: 877-236-2465 Fax: 877-732	ation.com

Terms of Service

Page: 3 of 3	Customer #: B00782442	Quote: 32767	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32768

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

ACCOUNTS PAYABLE DEPT ONE LARKIN CENTER, 3RD FLR Yonkers NY 10701 United States Ship To:

CROSS HILL ACADEMY 160 BOLMER AVE YONKERS NY 10703

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y31530	Benchmark Advance Grade 3 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	3	\$1,530.00
Y31531	Benchmark Advance Grade 4 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	3	\$1,530.00
Y31532	Benchmark Advance Grade 5 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	3	\$1,530.00
Y31533	Benchmark Advance Grade 6 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
X39300R	Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	3	\$600.00
X39301R	Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	3	\$600.00
X39302R	Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	3	\$600.00
X39303R	Benchmark Advance Grade 6 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00

Subtotal	Discount Total	Sales Tax	Shipping Cost	Total
\$7,810.00	(\$7,810.00)	\$0.00	\$0.00	\$0.00 USD

Memo

GRATIS 1-YEAR RENEWAL QUOTE 2022-2023 ALL ITEMS GRATIS / VALID ONLY IF ESTIMATE 32798 IS PURCHASED

Page: 1 of 3	Customer #: B00782363	mer #: B00782363 Quote: 32768	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32768

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32768

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE T ALL DIGITAL SUBSC		HASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
Name of School(s) T Attach separate docur	hat Will Use the Subscription(s) nent if necessary	
Onboarding Tech Co	ntact Name	
Onboarding Tech Co	ntact E-Mail	
• REQUIRED		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suit Email: neworders@benchmarkeduc Phone: 877-236-2465I Fax: 877-733	ation.com

Terms of Service

Page: 3 of 3	Customer #: B00782363	Quote: 32768	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32771

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

YONKERS ACCOUNTS PAYABLE One Larkin Center, 3rd Floor Yonkers NY 10701 United States Ship To: SCHOOL 17 745 MIDLAND AVE YONKERS NY 10704

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y31527	Benchmark Advance Grade K My Shared Readings Consumables 5 Volumes 25- Copy Student Set - National Edition 1- Year	Current	\$250.00	1	\$250.00
Y29963	Benchmark Advance Grade K My Shared Readings Consumables 5 Volumes 3- Copy Set - National Edition 1-Year	Current	\$30.00	2	\$60.00
Y38277	Benchmark Advance Grade 1 My Reading and Writing Consumable 10 Units 25-Copy Set - National 2nd Edition 1-Year	Current	\$250.00	2	\$500.00
Y31529	Benchmark Advance Grade 2 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	1	\$510.00
Y29969	Benchmark Advance Grade 2 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	5	\$255.00
Y31530	Benchmark Advance Grade 3 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y31531	Benchmark Advance Grade 4 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y29971	Benchmark Advance Grade 4 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	1	\$51.00
Y31532	Benchmark Advance Grade 5 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	1	\$510.00
Y29972	Benchmark Advance Grade 5 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	5	\$255.00

Customer #: B00782533	Quote: 32771	
F02015 Fric Jurman		
	Customer #: B00782533 E02015 Eric Jurman	



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32771

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Product Code	Title	Price Level	Unit Price	Qty	Total Price
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	1-Year	\$200.00	1	\$200.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	1-Year	\$200.00	2	\$400.00
X39299R	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	1	\$200.00
X39300R	Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39301R	Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X39302R	Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	1	\$200.00

Subtotal	Discount Total	Sales Tax	Shipping Cost	Total
\$6,231.00	(\$6,231.00)	\$0.00	\$0.00	\$0.00 USD

Memo

GRATIS 1-YEAR RENEWAL QUOTE 2022-2023 ALL ITEMS GRATIS / VALID ONLY IF ESTIMATE 32797 IS PURCHASED

* All digital subscriptions will end on July 31st the last year of the term purchased.

Page: 2 of 3	Customer #: B00782533	Quote: 32771	
Quote Date: 4/25/2022	E02015 Eric Jurman		

^{*} The above pricing cannot be combined with any other offers.

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.

^{*} Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32771

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE TH ALL DIGITAL SUBSCI		HASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
Name of School(s) Th Attach separate docum	at Will Use the Subscription(s) ent if necessary	
Onboarding Tech Con	tact Name	
Onboarding Tech Con	tact E-Mail	
• REQUIRED		,
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite Email: neworders@benchmarkeduca Phone: 877-236-2465 Fax: 877-732	ation.com

Terms of Service

Page: 3 of 3	Customer #: B00782533	Quote: 32771	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32774

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

ACCOUNTS PAYABLE DEPT ONE LARKIN CENTER, 3RD FLR Yonkers NY 10701

Yonkers NY 10701 United States Ship To: Sandi Fanek SCHOOL 9

53 FAIRVIEW ST, Main Office

YONKERS NY 10703

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y31527	Benchmark Advance Grade K My Shared Readings Consumables 5 Volumes 25- Copy Student Set - National Edition 1- Year	Current	\$250.00	2	\$500.00
Y38277	Benchmark Advance Grade 1 My Reading and Writing Consumable 10 Units 25- Copy Set - National 2nd Edition 1-Year	Current	\$250.00	2	\$500.00
Y31529	Benchmark Advance Grade 2 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	1	\$510.00
Y29969	Benchmark Advance Grade 2 Texts for Close Reading Consumables 10 Volumes 3-Copy Set - National Edition 1-Year	Current	\$51.00	5	\$255.00
Y31530	Benchmark Advance Grade 3 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y31531	Benchmark Advance Grade 4 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y31532	Benchmark Advance Grade 5 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
Y31533	Benchmark Advance Grade 6 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	2	\$1,020.00
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	1-Year	\$200.00	2	\$400.00

Page: 1 of 3	Customer #: B00782454	Quote: 32774	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32774

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Title	Price Level	Unit Price	Qty	Total Price
Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	1	\$200.00
Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
Benchmark Advance Grade 6 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	2	\$400.00
	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 6 Core Package Renewal Subscription - National	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 6 Core Package Renewal Subscription - National	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition Benchmark Advance Grade 6 Core Package Renewal Subscription - National	Benchmark Advance Grade 2 Core 1-Year \$200.00 1 Package Renewal Subscription - National Edition Benchmark Advance Grade 3 Core 1-Year \$200.00 2 Package Renewal Subscription - National Edition Benchmark Advance Grade 4 Core 1-Year \$200.00 2 Package Renewal Subscription - National Edition Benchmark Advance Grade 5 Core 1-Year \$200.00 2 Package Renewal Subscription - National Edition Benchmark Advance Grade 6 Core 1-Year \$200.00 2 Package Renewal Subscription - National Edition

Subtotal	Discount Total	Sales Tax	Shipping Cost	Total
\$8,445.00	(\$8,445.00)	\$0.00	\$0.00	\$0.00 USD

Memo

GRATIS 1-YEAR RENEWAL QUOTE 2022-2023 ALL ITEMS GRATIS / VALID ONLY IF ESTIMATE 32795 IS PURCHASED

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Page: 2 of 3	Customer #: B00782454	Quote: 32774	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32774

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE T ALL DIGITAL SUBSC		HASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
Name of School(s) To Attach separate documents	nat Will Use the Subscription(s) nent if necessary	
Onboarding Tech Co.	ntact Name	
Onboarding Tech Co.	ntact E-Mail	
• REQUIRED		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite Email: neworders@benchmarkeduc Phone: 877-236-2465 Fax: 877-732	ation.com

Terms of Service

Page: 3 of 3	Customer #: B00782454	Quote: 32774	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32789

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

ACCOUNTS PAYABLE DEPT ONE LARKIN CENTER, 3RD FLR Yonkers NY 10701 United States Ship To:

Annie Carney YONKERS EARLY CHILDHOOD ACAD 160 BOLMER AVE, MAIN OFFICE YONKERS NY 10703-1636

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y31527	Benchmark Advance Grade K My Shared Readings Consumables 5 Volumes 25- Copy Student Set - National Edition 1- Year	Current	\$250.00	4	\$1,000.00
Y38277	Benchmark Advance Grade 1 My Reading and Writing Consumable 10 Units 25-Copy Set - National 2nd Edition 1-Year	Current	\$250.00	4	\$1,000.00
Y31529	Benchmark Advance Grade 2 Texts for Close Reading Consumables 10 Volumes 30-Copy Student Set - National Edition_1Y	Current	\$510.00	3	\$1,530.00
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	1-Year	\$200.00	4	\$800.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	1-Year	\$200.00	4	\$800.00
X39299R	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	1-Year	\$200.00	3	\$600.00

Subtotal	Discount Total	Sales Tax	Shipping Cost	Total
\$5,730.00	(\$5,730.00)	\$0.00	\$0.00	\$0.00 USD

Memo

GRATIS 1-YEAR RENEWAL QUOTE 2022-2023 ALL ITEMS GRATIS / VALID ONLY IF ESTIMATE 32794 IS PURCHASED

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Page: 1 of 2	Customer #: B12107414	Quote: 32789	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32789

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE TO ALL DIGITAL SUBSC		HASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
Name of School(s) The Attach separate documents of the separate d	nat Will Use the Subscription(s) nent if necessary	
Onboarding Tech Cor	ntact Name	
Onboarding Tech Cor	ntact E-Mail	
 REQUIRED 		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite Email: neworders@benchmarkeduc Phone: 877-236-2465 Fax: 877-732	eation.com

Terms of Service

^{*} By placing an order for Benchmark Education Company ("BEC") products (the "Products"), the entity ("Customer") that this proposal has been prepared for agrees to be bound by BEC's Terms of Service and Terms of Use and Privacy Policy (see below). Subject to the Customer's payment of the fees set out above, BEC grants to Customer a non-exclusive and non-transferable license to access and use the Products under the terms described in this Terms of Service. The proposal contains the scope of use allowed and the term of Customer's license to the Products.



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32794

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

ACCOUNTS PAYABLE DEPT ONE LARKIN CENTER, 3RD FLR Yonkers NY 10701 United States Ship To:

Annie Carney YONKERS EARLY CHILDHOOD ACAD 160 BOLMER AVE, MAIN OFFICE YONKERS NY 10703-1636

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y46253	Benchmark Advance Gr. K 25-Copy Consumables 2-Year	Current	\$500.00	4	\$2,000.00
Y46255	Benchmark Advance Gr. 1 25-Copy National 2nd Edition Consumables 2-Year	Current	\$500.00	4	\$2,000.00
Y46256	Benchmark Advance Gr. 2 30-Copy Consumables 2-Year	Current	\$1,020.00	3	\$3,060.00
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	2-Year	\$380.00	4	\$1,520.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	2-Year	\$380.00	4	\$1,520.00
X39299R	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	3	\$1,140.00

Subtotal	Sales Tax	Shipping Cost	Total
\$11,240.00	\$0.00	\$706.00	\$11,946.00 USD

Memo

2-Year Renewal Estimate for 23-25 SY / Must be purchased for estimate 32789 to be valid

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Page: 1 of 2	Customer #: B12107414	Quote: 32794	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32794

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE TO ALL DIGITAL SUBSC	HIS PROPOSAL WITH YOUR PURCHASE ORDER ALONG WITH THE FOLLOWING INFORMATION CRIPTIONS	FOR
Name of School(s) The Attach separate documents of the separate d	hat Will Use the Subscription(s) ment if necessary	
Onboarding Tech Cor	ntact Name	
Onboarding Tech Cor	ntact E-Mail	
 REQUIRED 		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite B Groveport, OH 43125-1160 Email: neworders@benchmarkeducation.com Phone: 877-236-2465 Fax: 877-732-8273	

Terms of Service

Page: 2 of 2	Customer #: B12107414	Quote: 32794	
Ouete Dete: 4/25/2022	E02015 Eric Jurman		
Quote Date: 4/25/2022	EUZU15 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32795

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

ACCOUNTS PAYABLE DEPT ONE LARKIN CENTER, 3RD FLR Yonkers NY 10701 United States Ship To: Sandi Fanek SCHOOL 9 53 FAIRVIEW ST, Main Office YONKERS NY 10703

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y46253	Benchmark Advance Gr. K 25-Copy Consumables 2-Year	Current	\$500.00	2	\$1,000.00
Y46255	Benchmark Advance Gr. 1 25-Copy National 2nd Edition Consumables 2-Year	Current	\$500.00	2	\$1,000.00
Y46256	Benchmark Advance Gr. 2 30-Copy Consumables 2-Year	Current	\$1,020.00	1	\$1,020.00
Y46248	Benchmark Advance Gr. 2 3-Copy Consumables 2-Year	Current	\$102.00	5	\$510.00
Y46257	Benchmark Advance Gr. 3 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46258	Benchmark Advance Gr. 4 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46259	Benchmark Advance Gr. 5 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46084	Benchmark Advance Gr. 6 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	1-Year	\$380.00	2	\$760.00
X39299R	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	1	\$380.00
X39300R	Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X39301R	Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X39302R	Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00

Page: 1 of 3	Customer #: B00782454	Quote: 32795	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32795

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Product Code	Title	Price Level	Unit Price	Qty	Total Price
X39303R	Benchmark Advance Grade 6 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00

Subtotal	Sales Tax	Shipping Cost	Total
\$16,630.00	\$0.00	\$1,169.00	\$17,799.00 USD

Memo

2-Year Renewal Estimate for 23-25 SY / Must be purchased for estimate 32774 to be valid

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Page: 2 of 3	Customer #: B00782454	Quote: 32795	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32795

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE THE		ASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
 Name of School(s) The Attach separate document 	nat Will Use the Subscription(s) nent if necessary	
 Onboarding Tech Cor 	ntact Name	
Onboarding Tech Cor	ntact E-Mail	
 REQUIRED 	_	
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite E Email: neworders@benchmarkeducati Phone: 877-236-2465 Fax: 877-732-8	ion.com

Terms of Service

Page: 3 of 3	Customer #: B00782454	Quote: 32795	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32797

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

YONKERS ACCOUNTS PAYABLE One Larkin Center, 3rd Floor Yonkers NY 10701 United States Ship To: SCHOOL 17 745 MIDLAND AVE YONKERS NY 10704

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y46253	Benchmark Advance Gr. K 25-Copy Consumables 2-Year	Current	\$500.00	1	\$500.00
Y46245	Benchmark Advance Gr. K 3-Copy Consumables 2-Year	Current	\$60.00	2	\$120.00
Y46255	Benchmark Advance Gr. 1 25-Copy National 2nd Edition Consumables 2-Year	Current	\$500.00	2	\$1,000.00
Y46256	Benchmark Advance Gr. 2 30-Copy Consumables 2-Year	Current	\$1,020.00	1	\$1,020.00
Y46248	Benchmark Advance Gr. 2 3-Copy Consumables 2-Year	Current	\$102.00	5	\$510.00
Y46257	Benchmark Advance Gr. 3 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46258	Benchmark Advance Gr. 4 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46250	Benchmark Advance Gr. 4 3-Copy Consumables 2-Year	Current	\$102.00	1	\$102.00
Y46259	Benchmark Advance Gr. 5 30-Copy Consumables 2-Year	Current	\$1,020.00	1	\$1,020.00
Y46251	Benchmark Advance Gr. 5 3-Copy Consumables 2-Year	Current	\$102.00	5	\$510.00
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	2-Year	\$380.00	1	\$380.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	2-Year	\$380.00	2	\$760.00
X39299R	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	1	\$380.00
X39300R	Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X39301R	Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00

Page: 1 of 3	Customer #: B00782533	Quote: 32797	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32797

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Product Code	Title	Price Level	Unit Price	Qty	Total Price
X39302R	Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	1	\$380.00

Subtotal	Sales Tax	Shipping Cost	Total
\$12,282.00	\$0.00	\$845.40	\$13,127.40 USD

Memo

2-Year Renewal Estimate for 23-25 SY / Must be purchased for estimate 32771 to be valid

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Page: 2 of 3	Customer #: B00782533	Quote: 32797	
Oueta Data: 4/05/0000	F00045 Frie luman		
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32797

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE T ALL DIGITAL SUBSC		HASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
Name of School(s) To Attach separate documents	hat Will Use the Subscription(s) nent if necessary	
Onboarding Tech Co.	ntact Name	
Onboarding Tech Co.	ntact E-Mail	
• REQUIRED		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite Email: neworders@benchmarkeduc Phone: 877-236-2465 Fax: 877-732	ation.com

Terms of Service

Page: 3 of 3	Customer #: B00782533	Quote: 32797	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32798

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

ACCOUNTS PAYABLE DEPT ONE LARKIN CENTER, 3RD FLR Yonkers NY 10701 United States Ship To:

CROSS HILL ACADEMY 160 BOLMER AVE YONKERS NY 10703

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y46257	Benchmark Advance Gr. 3 30-Copy Consumables 2-Year	Current	\$1,020.00	3	\$3,060.00
Y46258	Benchmark Advance Gr. 4 30-Copy Consumables 2-Year	Current	\$1,020.00	3	\$3,060.00
Y46259	Benchmark Advance Gr. 5 30-Copy Consumables 2-Year	Current	\$1,020.00	3	\$3,060.00
Y46084	Benchmark Advance Gr. 6 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
X39300R	Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	3	\$1,140.00
X39301R	Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	3	\$1,140.00
X39302R	Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	3	\$1,140.00
X39303R	Benchmark Advance Grade 6 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00

Subtotal	Sales Tax	Shipping Cost	Total
. \$15,400.00	\$0.00	\$1,120.00	\$16,520.00 USD

Memo

2-Year Renewal Estimate for 23-25 SY / Must be purchased for estimate 32768 to be valid

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Page: 1 of 2	Customer #: B00782363	Quote: 32798	
Quote Date: 4/25/2022	E02015 Eric Jurman		
Quote Date. 4/25/2022	E02015 End Junian		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32798

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE T		CHASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
Name of School(s) T Attach separate docur	hat Will Use the Subscription(s) nent if necessary	
Onboarding Tech Co	ntact Name	
Onboarding Tech Co	ntact E-Mail	
• REQUIRED		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suit Email: neworders@benchmarkeduc Phone: 877-236-2465I Fax: 877-73	cation.com

Terms of Service

Page: 2 of 2	Customer #: B00782363	Quote: 32798	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32800

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

ACCOUNTS PAYABLE DEPT ONE LARKIN CENTER, 3RD FLR Yonkers NY 10701 United States Ship To:

DICHIARO ELEM 373 BRONXVILLE RD YONKERS NY 10708

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y46253	Benchmark Advance Gr. K 25-Copy Consumables 2-Year	Current	\$500.00	2	\$1,000.00
Y46255	Benchmark Advance Gr. 1 25-Copy National 2nd Edition Consumables 2-Year	Current	\$500.00	2	\$1,000.00
Y46256	Benchmark Advance Gr. 2 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46257	Benchmark Advance Gr. 3 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46249	Benchmark Advance Gr. 3 3-Copy Consumables 2-Year	Current	\$102.00	2	\$204.00
Y46258	Benchmark Advance Gr. 4 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46250	Benchmark Advance Gr. 4 3-Copy Consumables 2-Year	Current	\$102.00	1	\$102.00
Y46259	Benchmark Advance Gr. 5 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46251	Benchmark Advance Gr. 5 3-Copy Consumables 2-Year	Current	\$102.00	1	\$102.00
Y46084	Benchmark Advance Gr. 6 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	2-Year	\$380.00	2	\$760.00
X39299R	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X39300R	Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X39301R	Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00

Page: 1 of 3	Customer #: B00782442	Quote: 32800	
0 1 5 1 1/05/0000	50045 5 1 1		
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32800

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Product Code	Title	Price Level	Unit Price	Qty	Total Price
X39302R	Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X39303R	Benchmark Advance Grade 6 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00

Subtotal	Sales Tax	Shipping Cost	Total
\$17,928.00	\$0.00	\$6,406.00	\$24,334.00 USD

Memo

2-Year Renewal Estimate for 23-25 SY / Must be purchased for estimate 32767 to be valid

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Page: 2 of 3	Customer #: B00782442	Quote: 32800	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32800

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE TO ALL DIGITAL SUBSC	HIS PROPOSAL WITH YOUR PURCHASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR RIPTIONS			
Name of School(s) That Will Use the Subscription(s) Attach separate document if necessary				
Onboarding Tech Cor	ntact Name			
Onboarding Tech Cor	ntact E-Mail			
• REQUIRED				
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite B Groveport, OH 43125-1160 Email: neworders@benchmarkeducation.com Phone: 877-236-2465 Fax: 877-732-8273			

Terms of Service

Page: 3 of 3	Customer #: B00782442	Quote: 32800	
Quote Date: 4/25/2022	E02015 Eric Jurman		

^{*} By placing an order for Benchmark Education Company ("BEC") products (the "Products"), the entity ("Customer") that this proposal has been prepared for agrees to be bound by BEC's Terms of Service and Terms of Use and Privacy Policy (see below). Subject to the Customer's payment of the fees set out above, BEC grants to Customer a non-exclusive and non-transferable license to access and use the Products under the terms described in this Terms of Service. The proposal contains the scope of use allowed and the term of Customer's license to the Products.



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32806

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

ACCOUNTS PAYABLE DEPT One Larkin Center, 3rd Floor Yonkers NY 10701 United States Ship To:

WILLIAM BOYCE THOMPSON SCHOOL 1061 N BROADWAY YONKERS NY 10701

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y46253	Benchmark Advance Gr. K 25-Copy Consumables 2-Year	Current	\$500.00	2	\$1,000.00
Y46255	Benchmark Advance Gr. 1 25-Copy National 2nd Edition Consumables 2-Year	Current	\$500.00	1	\$500.00
Y46247	Benchmark Advance Gr. 1 3-Copy National 2nd Edition Consumables 2-Year	Current	\$60.00	4	\$240.00
Y46256	Benchmark Advance Gr. 2 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46257	Benchmark Advance Gr. 3 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46258	Benchmark Advance Gr. 4 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46250	Benchmark Advance Gr. 4 3-Copy Consumables 2-Year	Current	\$102.00	1	\$102.00
Y46259	Benchmark Advance Gr. 5 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46084	Benchmark Advance Gr. 6 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46252	Benchmark Advance Gr. 6 3-Copy Consumables 2-Year	Current	\$102.00	1	\$102.00
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	2-Year	\$380.00	1	\$380.00
X39299R	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X39300R	Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X39301R	Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00

Customer #: B04367812	Quote: 32806	
E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32806

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Product Code	Title	Price Level	Unit Price	Qty	Total Price
X39302R	Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X39303R	Benchmark Advance Grade 6 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00

Subtotal	Subtotal Sales Tax		Total	
\$17,084.00	\$0.00	\$1,214.40	\$18,298.40 USD	

Memo

2-Year Renewal Estimate for 23-25 SY / Must be purchased for estimate 32766 to be valid

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Customer #: B04367812	Quote: 32806	
E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32806

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE T ALL DIGITAL SUBSC	aut strand and water and strain	HASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
Name of School(s) To Attach separate documents	hat Will Use the Subscription(s) nent if necessary	,
Onboarding Tech Co.	ntact Name	
Onboarding Tech Co.	ntact E-Mail	
• REQUIRED		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite Email: neworders@benchmarkeduc Phone: 877-236-2465 Fax: 877-732	cation.com

Terms of Service

Customer #: B04367812	Quote: 32806
02015 Fric Jurman	
	02015 Eric Jurman

^{*} By placing an order for Benchmark Education Company ("BEC") products (the "Products"), the entity ("Customer") that this proposal has been prepared for agrees to be bound by BEC's Terms of Service and Terms of Use and Privacy Policy (see below). Subject to the Customer's payment of the fees set out above, BEC grants to Customer a non-exclusive and non-transferable license to access and use the Products under the terms described in this Terms of Service. The proposal contains the scope of use allowed and the term of Customer's license to the Products.



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32807

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Customer:

Accounts Payable Yonkers Public Schools One Larkin Center, 3rd Floor Yonkers NY 10701 United States Ship To:

ELDA PEREZ-MEJIA EUGENIO MARIA DE HOSTOS SCHOOL 75 MORRIS ST YONKERS NY 10705

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y46253	Benchmark Advance Gr. K 25-Copy Consumables 2-Year	Current	\$500.00	2	\$1,000.00
Y46245	Benchmark Advance Gr. K 3-Copy Consumables 2-Year	Current	\$60.00	2	\$120.00
Y46255	Benchmark Advance Gr. 1 25-Copy National 2nd Edition Consumables 2-Year	Current	\$500.00	2	\$1,000.00
Y46247	Benchmark Advance Gr. 1 3-Copy National 2nd Edition Consumables 2-Year	Current	\$60.00	2	\$120.00
Y46256	Benchmark Advance Gr. 2 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46248	Benchmark Advance Gr. 2 3-Copy Consumables 2-Year	Current	\$102.00	1	\$102.00
Y46257	Benchmark Advance Gr. 3 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46249	Benchmark Advance Gr. 3 3-Copy Consumables 2-Year	Current	\$102.00	1	\$102.00
Y46258	Benchmark Advance Gr. 4 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46250	Benchmark Advance Gr. 4 3-Copy Consumables 2-Year	Current	\$102.00	1	\$102.00
Y46259	Benchmark Advance Gr. 5 30-Copy Consumables 2-Year	Current	\$1,020.00	2	\$2,040.00
Y46251	Benchmark Advance Gr. 5 3-Copy Consumables 2-Year	Current	\$102.00	1	\$102.00
X39297R	Benchmark Advance Grade K Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X48567R	Benchmark Advance Grade 1 Core Package Renewal Subscription - National 2nd Edition	2-Year	\$380.00	2	\$760.00
X39299R	Benchmark Advance Grade 2 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00

Page: 1 of 3	Customer #: B00782557	Quote: 32807	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32807

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

Product Code	Title	Price Level	Unit Price	Qty	Total Price
X39300R	Benchmark Advance Grade 3 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X39301R	Benchmark Advance Grade 4 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00
X39302R	Benchmark Advance Grade 5 Core Package Renewal Subscription - National Edition	2-Year	\$380.00	2	\$760.00

Subtotal	Sales Tax	Shipping Cost	Total
\$15,368.00	\$0.00	\$1,080.80	\$16,448.80 USD

Memo

2-Year Renewal Estimate for 23-25 SY / Must be purchased for estimate 32675 to be valid

- * The above pricing cannot be combined with any other offers.
- * Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- * All digital subscriptions will end on July 31st the last year of the term purchased.
- * Trainings must be cancelled before scheduled training date (at least five (5) business days prior for on-site and at least 72 hours prior for virtual trainings). If you cancel trainings after these periods, you will be charged the full amount of the training session(s) cancelled.

Page: 2 of 3	Customer #: B00782557	Quote: 32807	
Quote Date: 4/25/2022	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 32807

Contact representative

Marjorie Sullivan

Email: msullivan@benchmarkeducation.com

Office Phone:

Phone: (315) 920-0805

PLEASE INCLUDE T ALL DIGITAL SUBSC		HASE ORDER ALONG WITH THE FOLLOWING INFORMATION FOR
Name of School(s) T Attach separate docur	hat Will Use the Subscription(s) nent if necessary	
Onboarding Tech Co	ntact Name	
Onboarding Tech Co	ntact E-Mail	
• REQUIRED		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite Email: neworders@benchmarkeduc Phone: 877-236-2465 Fax: 877-732	ation.com

Terms of Service

Page: 3 of 3	Customer #: B00782557	Quote: 32807	
Quote Date: 4/25/2022	E02015 Eric Jurman		

^{*} By placing an order for Benchmark Education Company ("BEC") products (the "Products"), the entity ("Customer") that this proposal has been prepared for agrees to be bound by BEC's Terms of Service and Terms of Use and Privacy Policy (see below). Subject to the Customer's payment of the fees set out above, BEC grants to Customer a non-exclusive and non-transferable license to access and use the Products under the terms described in this Terms of Service. The proposal contains the scope of use allowed and the term of Customer's license to the Products.